CooRDINATE

@

G EoMETRM Easic s

| Gea et of g-l,'m.':)k(‘ |)‘«\-Q Jb;vn'v\j (:(‘ Y 3 and (Xz., jl)

| (:Lz) '3"—)

| ‘32—\3\
I
I
C‘x‘)‘_)') ‘)(-1'2\
; (‘Qawﬁcne m = Ve.rbm..l aLanje_ - Y2-4y
! horyzonta | 44,.6< Xy =X
M = ]7__"‘"3'
X =Xy
E xample |
e Find 3r&0(l“¢n(’ o-p hne \‘)o{nmj <2)$'> and (‘7))3’)
_ Let (’H)Bl} = <Z,§) and (9‘—1)‘]1) :<71'3)
Tk&/\ - \3.“_ ‘j\ - ,’3 __5’ - 3-
Ay, 7-2 <
iEﬂAMF.Qz Fln.x a(ao*h.c..\' o‘é “v\C do'\ul'qi (—3) 4—) (\nd(7)—§)
Lt (90 7 (53,4) wd (3390) = (7,-5)
—rL\Cn :
m = Ya-y, = —S-4 _ -9
Hq -, 7 -3 10
=




COONINATE GEomETEA RASicS @

Distance  between Ene pou'—wfs <"\,‘3.) and <3‘—:.,‘Jz.>

(11) ‘:)‘2.)

(1'1 ")!B

Let cliskance be 4

Ther EU P‘J t’ka.s ofr4
x

(xz-x, )1 + (“31."3:)
’/(’xz’xq)z"‘ (j‘/:_\}")z

Exahpli ‘
T Fd dittance betveen (2.5) and (7,13)
A= _[CGamad + (g
A= [(7-20* + (13-¢)*
d = [ s*rg> = [av+ie = 89
Ex«htle,l

s F’."’J Aistunce bhebween ("3)4—> and <'7) -f)
d = ,/('r—-s)‘+(-r-4)‘
d :,_/ 0%+ <~")'¢. = [loo + 8| / Ig




C oo RVDINATE GEOMETE! (ASICS @
Midpoint  between Ews goints (x,,5.) and (3,4, )
C’Q,‘Jz)
M
Ct,9.)
The m;w‘,’w}nf has coord innteg which are FEle owcm?e_
o’€ Ehe Lorrc(fan/(;nj coartz"mg‘»‘d ¢'€ each end po.'n(‘
M — DL| +XQ_ 'j. -+ "J-L
2 ) 7R
%
E)ﬂdm")l& |
| Findd midpoint of (2,5) and (7,13)
M = Z+7 S—+'3)
7 /) Tz
M = _f[_) 6\)
> _
Exq»«p‘& Z

Frd widpont o€ (-3.4) and (7,-5)

M o= (—3+7) ﬂ._.+(*§))
2 A

(*‘3;7 , 42-:5)

(2,4

M




CooRDINATE GEomMETL RASICS

L\A\JQ tL\C Sam e jra»‘f(»(:

Par‘knﬁl l;neg
cadr Fm |
Mot ' 1€ ‘aan..“c.l Ehen Wy Ty
ﬁ(‘k#‘l(ﬂkm‘z
Ex«r«[).e,.( of (Jkalk\ lines
\3 = 2x+3 = -"%'DL -4
Y = 2%—7 , “ = ""'3"1 + I

Pe,rpe.»ﬁ(.uh\/ |ines L\«va 6“0‘;&/\4"5 th(‘ »\vf'hpl:) ép —-I

Srud\eq"
"
3(‘L'M¢nb ?

h\

E)\kmp\ci o{ PUPLN)‘I{,u'af lines

5- I +4 Gz Sx |
= -éx"7




®

COORDINATE G EomeETAt  Rpasic$

EaLua{“mn of line with 3mal\'¢n{' L4g} PASJ(nj t“\mvjl\ Pa:;‘l— (1,”1')

C-’L)‘l) 3&!\4/‘«.‘ Fol%l’on ,I'—'lQ

Sp-a.c'c‘("( Po;a(‘ o (\ne

(1\) ‘31)

Grradient = Y4 =
K =X

Sogymy = om(x-x)

Exanple | Find 24w of line with gradient & theo punt (7,4)
Uging oy = m(x -x,)

-4 = §(=-7)

y-4 =Sz -3¢

5§ = §x -3§ +4

4= §x =3I
Example 2 Find eqn of lne With gecdicat =4 b (4,¢)
- Us.‘..:) 5—3| = h\(i-—x()
49 -6 = -é(:(‘él—)
Lg—é = -4 x + 2
Ly +2+6




COORDINATE (GEOME TR

Arscs

©

é. E‘LV‘«HO'\ 0‘( line tkraujk Sl'vc'\ pmét‘s (21)3,> ansd CJC).) ‘J\.)
| (%)
CXLJLJ’-)
(%) 4.)
M = Y=Yy oA alse mo= 4y
A=, e ~ot)
N 02 ~ 9 = 9~
M =X A = O
= DT = X o2
‘37_“3‘ Ay =y
Erple ) Find quibion of line Eivovgh (3,4) and (¢, 12)
U53n3 (3—'3| D=3y
\3,2_~\\ 71'1|
4 -1 - -3
\3-9 £-3
> w=-4 . x-3
4 2
=5 ':)-ﬁ = 4"(1'3)
2
=5 4w -9 = 2( -3)
= "b-—ﬁ = 2= -6
= 4W=1 = 22 -¢€ +1
= b = 2x + 3






